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M.A. / M.Sc. First Semester ExaAmination 2023
GEQ401: ADVANCED & APPLIED GEOMORPHOLOGY
{Time: 0Z:80 Hours} [Max. Marks: 70j

All guestions are compuisory and carry equal marks.

1. Explain the meaning of geomorﬁb!ogy it 'briéfﬁ[f‘:a'ifa"’(;:'_‘ljis;sfﬁts'Histdﬁcai development, 14
P A uOr LT i . .
1. Discuss the approaches to the study of geomorphology and describe any two concepts. 14
2. Explain in detail the distribution of oceans and continents based on the Plate Tectonic i4
Theory'.
Or
2 What is {sostasy? Discuss suitable examples of principles related to it i4
3. What is the base-level of the river? Briefly explain riverine erosional landforms. 14
Or
3 Explain the factors controlling weathering and briefiy discuss its types. is
4, Explain the importance of applied geomorphology with suitable examples in various fields. 14
Or
4. Explain in detai! the applicability of geomorphology in river and costal management. 14
5. Choaose the correct answer. 14
(I}  Which one of the following pairs of landform types and their examples is not
correct?

A. inter mountain Plateau - Tibet

B. Block Mountain - Black Forest

C. Loess Plain - Northwest China

D. Residual Mountain - Western Ghats

(1)  Which one of the foliowing features of Glacial landform is not formed by Erosional
process?
A. Fjords
Hanging vaileys
Moraines
Arete

onw

{i)  Which one of the following minerals is not found in Sedimentary rock formations?
A. Gypsum
B. Mineral oil
C. Mica
D. Rocksalt
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{(IV}  Which one of the following pairs is not correctly matched?
A. Fold mountains ~Nappe formations
B. Block mountains — Horst formations
C. Karst Topography — Stalactites
D. Glacial Topegraphy — Inselberg

{V}  Choose the correct option from among the options refated to the following statements
regarding rocks.
A. The names plutonic, laccolith, lopolith, Fecolith etc. are related to igneous rocks. .
B. An altered form of sandstone is quartzite.
C. Limestone is a rock formed by a chemical process.
D. All the above statements are true.

{VI}  Which of the following statement{s} about landslides is/are the cause(s)?
A. Intensity of seismicity in weakly structured mountainous regions
B. Expiosive type of volcanic eruption
C. Heavy snowfail and continuous heavy rain
D. All the above statements are true.

(WI}  Which pair of the following does not match correctly?
A. Asia- Tethys geosyncline

America — Appalachian geosyncline

Great Britain- Caledonian geosyncline

Australia — Ural gecosyncline
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